
Lesson 25 

 

      
 

 

This page is on word problems. They will be using multiplication, division, addition, and 

subtraction. They will need to take multiple steps to find the answer to the question. They 

could use their word problem strategies like drawing a picture or using smaller numbers to 

figure out what to do. However, they should start by asking what they need to know to 

answer the question. That will help them figure out the first step. They will definitely need 

to work on scratch paper for today.  

 

Here are the first two worked out. 

 

Question: How many pieces left?  

Need to know: how many pieces all together and how many were eaten 

# of pieces: 5 x 8 = 40 

# eaten: 12 x 3 = 36 

# left 40 – 36 = 4 pieces 

 

Question: How many stamps each? 

Need to know: how many stamps all together, how many friends 

# of stamps: 43 – 7 = 36 

# of friends: 4 

# each: 36/4 = 9 stamps 

 

  



Lesson 27 

 

      
 

 

Your child should take the time to look through the example and use the directions to follow 

along.  

 

This is another way to look at long division. With this method, they don’t have to figure 

out the highest possible number of times that a number goes into something. In the 

example, 18 goes into 78 four times, but at first they just use 3 times. They subtract that 

off and see that it can go in another time.  

 

Here’s another way to write the same method. 

 

 Groups  Totals 

   7843 

 300  5400 (18 x 300) 

   2443 

 100  1800 (18 x 100) 

     643 

 30    540 (18 x 30) 

     103 

 5      90 (5 x 18) 

 435      13 

 

  



Lesson 28 

 

      
 

 

This is a page of word problems. They can use word problem strategies like drawing 

pictures or using smaller numbers. They will need to use scratch paper for today. Here are 

the first couple of problems worked out and the set up for several others. 

 

$374 + $158 = $532 

They could think of this with smaller numbers to figure out what to do. He bought 

something for $3 and still had $1 leftover. How much did he have at first? $4 (3+1) 

 

238 + 185 + 79 = 502 goldfish 

This is another one that using smaller numbers would help. They sold 2 then 1 and had 1 

leftover. How many did they have at first? 2 + 1 + 1. They need to add.  

 

172 – 155 + 86 bags 

 

185 – 128 – 39 pages 

 

115 + 86 – 37 seashells 

 

175 – 36 – (2 x 36) cups 

 

120 + 116 – 35 – 28 = 236 – 63 stamps  

  



Lesson 112 

 

      
 

 

Today they are moving in the opposite direction and converting from percents to decimals.  

 

The decimal point will be moving in the opposite direction. It will move two places to the 

left. Here are some examples. 

 

 30% becomes 0.30 or 0.3 

 

 2% becomes 0.02 

 

 683% becomes 6.83 

 

They are going to be multiplying by percents as well, which just means multiplying by a 

decimal. The examples show that you can multiply by a fraction as well, but I think it’s 

much simpler to multiply by the decimal.  

 

25% of 10 is 0.25 x 10 = 2.5 

 

“Of” is always a clue word that you need to multiply.   



Lesson 114 

 

      
 

 

They will be working with fractions, decimals, and percents today. They will be ordering 

numbers, finding which is greater, which is less.  

 

To compare the numbers it’s easiest to put them in the same format, to compare fractions 

to fractions and decimals to decimals, percents to percents.  

 

Here’s the first from the lesson page.  

 

 0.85, 2.3, 50%  In percents that’s 85%, 230%, 50%. Then it’s easy to order them. 

 

 To find the percent, you move the decimal point over two places to the right.  

 

Here’s another example.  

 

 3/5, 0.4, 20%  That’s 0.6, 0.4, 0.2 in decimals.  

 

I doubled 3 and 5 to get six tenths. That’s easy to write as a decimal. To turn the 

percent into a decimal, I moved the decimal back over to the left two places.   

 

 

 

 



Lesson 122 

 

      
 

The example on the page is showing that there is a one pie to six guest ratio, 1:6. There 

will be 24 guests, so they need to figure out how many pies they will need. This is a typical 

problem and useful in real life. ☺  

 

The equivalent ratios are 1:6 = x:24.  X is the unknown quantity. It just means the number 

you don’t know. I like to use a ?. 

 

 1 ? 

     =    

 6 24 

 

In the next lesson they will learn to solve this with cross multiplying. Right now they just 

need to think about equivalent fractions, equivalent ratios. 24÷6 = 4, so 6 was multiplied 

by 4 to get to 24. 1 x 4 = 4, so ? = 4  They need to make four pies.  

 

The most important thing in setting up these problems is to make sure they are comparing 

apples to apples and oranges to oranges, so to speak. The same thing should be on the same 

side of the colon. In this problem it’s #of pies : #of people to #of pies : #of people. 

 

Here’s the set up for the first couple word problems. 

 

 5:2 = x:10   ? tomatoes   24:20 = x:10 ? problems 

 


